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vkn'kZlaLd`riz'ui=ke~ 1

d{kk&n'keh

vof/ % gksjk=k;e~ iw.kkZÄïk% 100

Time allowed : 3 hours Maximum Marks: 100

fu/kZfjr le; % 3 ?k.Vs vf/dre vad 100

[k.M ^d* % vifBrka'k&vocks/ue~@vifBrka'k vocks/u 15 vÄïk%
Section A : Unseen Reading Comprehension

[k.M ̂ [k* % jpukRed&dk;Ze~@jpukRed dk;Z 20 vÄïk%
Section B : Writing Skills

[k.M ^x* % vuqiz;qDr&O;kdj.ke~@vuqiz;qDr O;kdj.k 30 vÄïk%
Section C : Applied Grammar

[k.M ^?k* % ifBr&vocks/ue~@ifBr&vocks/u 35 vÄïk%
Section D : Reading Comprehension
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funsZ'kk%

funsZ'k %

Instructions:

1- vfLeu~ iz'ui=ks pRokj% [k.Mk% lfUrA

bl iz'ui=k esa pkj [k.M gSaA
The question paper has four sections.

2- izR;soaQ [k.Me~ vf/d`R; mÙkjkf.k ,dfLeu~ LFkkus ozQes.k ys[kuh;kfuA

izR;sd [k.M osQ mÙkj ,d gh txg ij ozQe ls fy[kus gksaxsA
The answers to each section must be written at one place.

3- izfr[k.Me~ mÙkjkf.k i`Fko~Q iznÙkk;ke~ mÙkjiqfLrdk;ka ys[kuh;kfuA

izR;sd [k.M osQ mÙkj i`Fko~Q nh xbZ mÙkjiqfLrdk esa gh fy[kus gSaA
The answers have to be written in a separate answer sheet.

4- iz'ui=ks mÙkjkf.k u ys[kuh;kfuA

iz'ui=k ij mÙkj u fy[ksaA
Don’t write answers in the question paper.

5- iz'ula[;k iz'ui=kkuqlkje~ vo';eso ys[kuh;kA

iz'ui=k osQ vuqlkj iz'ula[;k vo'; gh fy[kuh gksxhA
Please write the question no. according to the question paper.

6- losZ"kka iz'ukuke~ mÙkjkf.k laLd`rsu ys[kuh;kfuA

lHkh iz'uksa osQ mÙkj laLd`r esa fyf[k,A
Answer all the questions in Sanskrit.
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[k.M % d Section A 15 vÄïk%

vifBrka'k&vocks/ue~ (vifBrka'k&vocks/u)

Unseen Reading Comprehension

1- v/ksfyf[kr&vuqPNsn};a ifBRok iznÙkiz'uku~ i`Fko~Q&iznÙkk;ke~ mÙkjiqfLrdk;ke~ mÙkjr &

fuEufyf[kr nksuksa vuqPNsnksa dks i<+dj fn, x, iz'uksa osQ mÙkj i`Fko~Q nh xbZ mÙkjiqfLrdk esa
fyf[k, &

Read the following two passages and answer the questions in the given answer
sheet.

izFke% vuqPNsn%

dks u tkukfr dohUnzjohUnzL; ukeA l% u osQoya cÄõizns'kL; vfirq fo'oL; izfl¼% dfo%A vusu
fojfpre~ ̂ xhrk×tfy%* bfr dforklÄ~xzg% vfrizfl¼%A vL; dforklÄ~xzgL; Ñrs ,o dfojs"k%
ijelEekfura ukscsyiqjLdkja izkIroku~A vLekoaQ jkf"Vª;xhrL; ^tu&x.k&eu-----* bR;L; jpf;rk
vfi johUnz% ,oA egkiq#"kks¿;a fo'oHkkjrhukeoaQ fo'ofo|ky;e~ vfi vLFkki;r~A ,rkn`'kk.kka
egkiq#"kk.kka tUenk=kh HkkjrHkwfe% oLrqr% /U;k ,oA

iz'uk%

I ,dinsu mÙkjr ½×2 1
,d 'kCn esa mÙkj nhft,
Answer in one word only.

(i) dfojohUnz% dL; izns'kL; dfo%\

(ii) ^xhrk×tfy%* osQu fojfprk\

II iw.kZokD;su mÙkjr 1×2 2
iw.kZ okD; esa mÙkj nhft,
Answer in complete sentence.

(i) dk oLrqr% /U;k ,o\

(ii) dfojohUnz% fdeFk± ukscsyiqjLdkja izkIroku~\

III funsZ'kkuqlkje~ mÙkjr ½×4 2
funsZ'k osQ vuqlkj mÙkj fy[ksa
Do as directed

(i) ^izkIroku~* bfr fozQ;kinL; drZ̀ine~ vuqPNsnkr~ fpRok fy[kr

iz-la- iz'u vad
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(ii) ^dforklÄ~xzg% vfrizfl¼%*    v=k fo'ks"k.kina fde~\

(iii) ^vizfl¼%* bfr inL; foijhrkFkZoaQ ine~ vuqPNsnkr~ fpRok fy[krA

(iv) ^LFkkfiroku~* bR;FksZ vuqPNsns fda ina iz;qDre~\

2 f}rh;% vuqPNsn% 10

cl;kus"kq vkokxeua fnukuqfnua ;krukizne~ ,o ifjdYirsA v|Ros futhcl;kus"kq pkydk% ;kf=kH;%
vkjksg.ka rq vfrfFkor~ J¼;k dkj;fUr] ;=k r=k cl;kue~ vo#è; xUrkje~] vxUrkja ok vkjksg.kk;
vkà;fUr] ^vfrfFknsoks Hko* bfr Hkkjrh;ijEijka lE;o~Q iky;fUrA ;kf=k.k% Lodk;ZLFkya izfr
foyfEcrk% HkofUr] HkoUrq psr~ ija rs"kka vf/dkf/dkfu ;k=kki=kkf.k rq foozQhrkfu L;q% ,o bR;srr~
rs"kka eufl orZrsA ,dokja tukuke~ cl;kus izfo"Vs lfr rs"kke~ vkSnk;± ek/q;± p u tkus oqQ=k ;kfrA
;kf=k.kke~ vorj.kle;s rq fo'ks"kr% ,rkorha 'kh?kzrka izn'kZ;fUr ;su izk;'k% nq?kZVuk% vfi HkofUrA
rLekr~ ,rs"kq cl;kus"kq ;k=kk egR;k lko/kur;k drZO;kA vLekfHk% lnSo Lej.kh;a ;r~ lko/kurk
nq?kZVukr% Js;LdjhA

iz'uk%

I ,dinsu mÙkjr ½×4 2
,d 'kCn esa mÙkj fyf[k,
Answer in one word only.

(i) ;kf=k.k% oaQ izfr foyfEcrk% HkofUr\

(ii) pkydk% ;kf=kH;% vkjksg.ka dFka dkj;fUr\

(iii)dk Js;Ldjh\

(iv) ;kf=k.kke~ vorj.kle;s izk;'k% dka izn'kZ;fUr\

II iw.kZokD;su mÙkjr 2×2 4
iw.kZ okD; esa mÙkj fyf[k;s
Answer in a complete sentence.

(i) cl;kus"kq pkydk% fda lE;o~Q ifjiky;fUr\

(ii) pkydkuka eufl fda orZrs\

III funsZ'kkuqlkje~ mÙkjr ½×4 2
funsZ'k osQ vuqlkj mÙkj nsa
Do as directed

(i) ^d"Vnk;de~* bfr inL; lekukFk±d ine~ vuqPNsnkr~ fpRok fy[krA

iz-la- iz'u vad
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(ii) ^foyfEcrk% HkofUr* v=k HkofUr bfr fozQ;kinL; drZ̀ine~ vuqPNsnkr~ fpRok fy[krA

(iii) ^,rkorha 'kh?kzrke~* v=k fo'ks"k.kina fde~\

(iv) ^vkjksg.kle;s* bfr inL; foijhrkFkZoaQ ine~ vuqPNsnkr~ fpRok fy[krA

IV vL; vuqPNsnL; d`rs leqfpra 'kh"kZoaQ fy[krA 2

bl vuqPNsn dk leqfpr 'kh"kZd fyf[k,A

Write a suitable title for this passage.

iz-la- iz'u vad
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[k.M% [k

Section B 20 vÄïk%

jpukReoaQ dk;Ze~

jpukRed dk;Z

Writing Skill

i=kys[kue~

3- Hkoku~ iz.ko%A Lofe=ka olUra i'kqif{kfHk% lg ozwQjO;ogkjkr~ fu"ks/f;rqa fyf[kra i=ka
e×tw"kk;ka iznÙkinS% iwj;r ½×10 5
vki iz.ko gSaA vius fe=k olUr dks i'kq&if{k;ksa osQ lkFk ozwQj O;ogkj gsrq euk djrs gq, fyf[kr
i=k dks e×tw"kk esa fn, x, inksa osQ ekè;e ls iw.kZ djsaA

You are Pranav. Fill in the blanks with the help of given words for this letter, written to
your friend Vasant requesting him not to indulge in cruelty towards birds and animals.

10@28 t;iqjuxje~

(i).......................

frfFk% --------------------------

fiz;fe=k (ii).......................

lLusge~ ueLrsA

Ro;k fyf[kra i=ke~ bnkuheso e;k izkIre~A ,rr~ (iii).......................pk¿ge~ vrho izlUu% ;r~ Ro;k
okf"kZdozQhMk&lekjksgs 'kwfVaxizfrLi/kZ;ka (iv).......................izkIre~A ee gkfnZoaQ o/kZiua Lohdjksrq
ija lk/Zeso ee ,oaQ fuosnue~ vI;fLr ;r~ LokfHk#ps% iwj.kkFk± ojkosQH;% (v).......................thoukf/
dkj% rq uSo grZO;%A {k.ka fopkj; fe=k! ;nsrS% i'kqif{kfHk% d% vijk/% d`r%\ ,rs rq loZnSo
izd̀rs% (vi)....................... o/Z;fUrA e;wjL; ùR;e~] fidL; xk;ue~] 'kqdL; (vii).......................]
diksrkuke~ mM~M;ua] e`xk.kka euksgkfj.kh xfr'p dL; eu% u vkuUn;frA ;fn losZ ,o LokfHk#fpa
iwjf;rqe~ ,rs"kka o/a dfj";fUr rfgZ ,rs rq (viii).......................nqyZHkk% Hkfo";fUrA vr% Ñi;k ee
fuosnue~ vU;Fkk u xzkáe~ vfirq vfLeu~ fo"k;s fpUrf;rO;e~A x`gs losZH;% ;Fkk;ksX;e~ vfHkoknue~A

ro (ix)...................... fe=ke~

(x)...........................................

i'kqif{kH;%] vfHkUue~] izFkeLFkkue~] jktLFkkuizns'k%] lEHkk"k.ke~] iz.ko%] KkRok] 'kksHkke~] olUr]
tUrq'kkyk;kefiA

iz-la- iz'u vad
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dFkkys[kue~

4- iznÙk'kCnlwphlkgkÕ;su v/ksnÙkka y?kqdFkka iwjf;Rok mÙkjkf.k mÙkjiqfLrdk;ka fy[krk ½×10 5

e×tw"kk esa fn, x, 'kCnksa dh lgk;rk ls uhps nh xbZ y?kqdFkk dks Hkjdj mÙkjiqfLrdk esa osQoy
mÙkj fy[ksa

Fill in the blanks in the following story and write the answers only in the answer sheet
with the help of given words.

,dnk vkdk'kok.kh tkrk ;r~ i×po"kk Z f.k ;kor~ o"kk Z u Hkfo";frA ,rPNª qRok
(i)......................fopfyrk% tkrk%A o"kk± fouk dk;± drqZe~ v'kD;k% o;e~ bfr (ii)......................
izk;'k% loSZ% Ñ"koSQ% dk;± R;Dre~ ijUrq ,d% d`"kd% Lo{ks=ka xRok izfrfnua d`f"kdk;± djksfr LeA
ra (iii)...................... dqoZUra n`"V~ok es?kekyk foLe;su mis{k;k pkdFk;r~&ew[kZ! fda Ro;k
(iv)...................... u JqrkA ;nk o"kkZ ,o u Hkfo";fr (v)...................... psr~ rnk fdeFk± o`Fkk
Jea djksf"kA fLereku% Ñ"kd% vonr~ &^ew[kks± ukfLe] u vkdk'kok.;kifjfpr%_ dk;± rq e;k
,rnFk± fozQ;rs ;r~ i×po"kkZ.kka (vi)...................... lqnh?kZ%A dk;± psr~ u dfj";kfe rfgZ vylr;k
foLe`fro'kkPp (vii)...................... rq dk;Zdj.ks ,okleFkZ% Hkfo";kfe rnk laHkw;ekuk;k% vfi
(viii)...................... u df'pn~ ykHk% Hkfo";fr eRÑrsA d̀"kdL; ,rka okrk± JqRok (ix)......................
vfpUr;r~ ;Ue;k psr~ i×po"ksZ"kq o"kZ.ka foLe`re~ ----------------\ bfr fopk;Z lk rR{k.keso tye~
vo"kZr~A vr% lR;eso mDra ;r~ euq";s.k LodeZ.kk (x)...................... Lofu;fr% fuehZ;rsA

e×tw"kk

dky%] fpUrf;Rok] es?kekyk] Hkfo";s] ,o] o"kkZ;k%] d`"kdk%] vkdk'kok.kh] dk;Ze~] i×po"kkZf.kA

5- fp=ko.kZue~

v/% nÙka fp=ke~ vk/̀R; e×tw"kk;ka iznÙk'kCnlgk;r;k i×pokD;kfu mÙkjiqfLrdk;ka fy[kr  2×5 10

uhps fn;s x;s fp=k ij vk/kfjr ikap okD; iznÙk 'kCnksa dh lgk;rk ls laLd̀r Hkk"kk esa fyf[k,A

Describe the following picture in five sanskrit sentences with the help of words given
in the box:

iz-la- iz'u vad
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e×tw"kk

x`×tue~] iyk.Mq%] dj.Mde~] tuk%] foozsQrkj%] ozQh.kkfUr] ozsQrkj%] ewY;a i`PNfUr] tulEenZ%]
ejhfpde~] 'kkd&vki.kL; n`';e~A

vFkok

^'kkd&vki.kL; o.kZue~* bfr fo"k;e~ vf/d`R; laLd`rsu i×pokD;kfu fy[krA lgk;rk;S
e×tw"kk nÙkkA 2×5 10

^'kkd&vki.kL; o.kZue~* bl fo"k; ij laLd`r esa ik¡p okD; fyf[k,A lgk;rk osQ fy, e×tw"kk
nh xbZ gSA

Write five sentences in Sanskrit on ̂ 'kkd&vki.kL; o.kZue~* you can take help from the
words given in the box.

e×tw"kk

fofo/k% 'kkdk% & iyk.Mq%] vkyqde~] dkjosYye~] fHkf.M%] gjhfr] ejhfpde~] o`Urkd%
x`×tue~ bR;kn;% ozsQrkj] foozsQrkj%] tukuke~ lEenZ%] dksykgye~] mPpS% vkà;fUr] ifÄïyk
Hkwfe%] brLrr% vLoPNrk

iz-la- iz'u vad
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[k.M % ^x* Section C 30 vÄïk%

vuqiz;qDr&O;kdj.ke~

vuqiz;qDr O;kdj.k

Applied Grammar

6- v/ksfyf[krs"kq okD;s"kq js[kkfdar inkuka lfU/a@lfU/foPNsna ÑRok iqu% iw.kZokD;a fy[kr 1×3 3

uhps fy[ks okD;ksa esa js[kkfdar inksa esa lfU/@lfU/foPNsn djosQ okD; iqu% fy[ksa

Join/Disjoin sandhi's in the underlined words and rewrite the sentence.

(i) ous $ vfLeu~ i'ko% fuHkZ;k% fopjfUrA

(ii) v'oRFkkek vfi rr~ $ f'k{k;k of×pr% u d`r%A

(iii)ee vfFkZuLrq /uykHkek=ks.k lUrks"ka HktUrsA

7- v/ksfyf[krs"kq okD;s"kq js[kkfdarinkuka foxzga @ lekla ok ÑRok mÙkjiqfLrdk;ka fy[kr 1×4 4

uhps fy[ks okD;ksa esa js[kkfdarinksa esa foxzg@lekl djosQ mÙkjiqfLrdk esa fy[ksa

Join/Disjoin compounds in underlined typed words in the following sentences and

rewrite them 4

(i) ;Fkk'kfDr dk;± oqQ#A

(ii) lwidkj% ikpd% vfi dF;rsA

(iii)l% lIrkuke~ vg~uka lekgkjs dk;± lekif;";frA

(iv) fofp=k% LoIu% e;k n`"V%A

8- v/ksfyf[krs"kq okD;s"kq dks"BdkUrxZrkuka inkuka izd̀frizR;;a foHkT;@;kstf;Rok iqu% fy[krA 1×5 5

uhps fy[ks x;s okD;ksa esa dks"Bd osQ vUrxZr inksa dk izd`frizR;; foHkktu@la;ksx djds iqu% fyf[k,A

Rewrite the following words by adding/disjoining suffixes to the roots/words given in
the bracket.

(i) l% ukVoaQ (oh{kek.k%) izlUu% HkofrA

(ii) osQjyizns'ks vusdkfu (bfrgkl+Bo~Q) LFkkukfu lfUrA

(iii)(iB~$rO;r~) iqLrda dq=k vfLr\

(iv) okDiVq% (eU=k+bu~) ijS% u ifjHkw;rsA

(v) (je.kh;k) fg ,"kk izÑfr%A

iz-la- iz'u vad
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9- v/ksfyf[krs"kq okD;s"kq mfpr&vO;;inS% fjDrLFkkukfu iwjf;Rok iqu% fy[kr 1x5 5

(vO;;kuka lwph v/% iznÙkk)

fuEufyf[kr okD;ksa esa mfpr vO;; inksa ls fjDrLFkku dh iwfrZ djosQ iqu% fyf[k,

(vO;;ksa dh lwph uhps nh xbZ gS)

Rewrite the following sentences after filling in the blanks with suitable indeclinables.

(List of words is given below)

(i) ;Fkk voozQrk fpÙks -------------------- okfp Hkosr

(ii) ekxsZ vodja -------------------- f{kiA

(iii) ;kor~ ijksidkj% fozQ;rs -------------------'kjhjL; lnqi;ksx%A

(iv) -------------------- jfooklj% vklhr~

(v) -------------------- eaxyoklj% Hkfo";frA

e×tw"kk

ek] rkor~] 'oa%] rFkk] g~;%

10- v/ksfyf[krs laokns okP;kuqlkja fjDrLFkkukfu iwj;r 1×3 3

v/ksfyf[kr laokn esa okP;kuqlkj fjDrLFkku iwfrZ dhft,

Fill in the blanks in the following dialogue and write the answers in the answersheet only:

#fp% & efgyk% (i)................... vku;fUrA

'kqfp% & rkfHk% tya oqQr% (ii)...................\

#fp% & rk% tya owQikr~ vku;fUrA

'kqfp% & rr% rk% fda dfj";fUr\

#fp% & rr% (iii)................... Hkkstua iP;rsA

11- fnYyhr% izfLFkrk 'krkCnh ,Dlizsl dnk oqQ=k izkIuksfr bfr ,rka le;lkfj.kha
leqfprle;su iwj;r 1×4 4

fnYyh ls izLFkku djus okyh 'krkCnh ,Dlizsl dc] dgk¡ igq¡prh gS] le;lkfj.kh osQ vuqlkj fy[ksa

Indicate the time as shown in the following schedule in sanskrit words in the
answersheet.

iz-la- iz'u vad
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(i) 'krkCnh ,Dlizsl izkr% (6-15) oknus fnYyhr% Hkksikyuxja izfr xPNfrA

(ii) izkr% (7-30) vkxjkuxja izkIuksfrA

(iii)izkr% (10-00) Xokfy;j bfr LFkkus HkofrA

(iv) (11-45) oknus Hkksikyuxja izkIuksfrA

12- v/ksfyf[krkfu okD;kfu (vÄïkuka LFkkus) laLd̀rla[;kfo'ks"k.kS% iwjf;Rok iqu% fy[kr ½×4 2

v/ksfyf[kr okD;ksa dks vÄïksa osQ LFkku ij laLd`rla[;kokpd fo'ks"k.kksa }kjk iwjk djosQ iqu%
fyf[k,

Write numerical Sanskrit adjectives in place of figures in the following sentences.

izkr% dkys Hkze.kk; vga okfVdka xPNkfeA r=k (4) vkezo`{kk% lfUrA tEcwiQyo`{kk.kka (6) o`{kk%
rFkk p (11) fuEco`{kk% eè;s p fo'kky% (1) fiIiy% 'kksHkrsA

13- };ks% fe=k;ks% eè;s okrkZykis dk'pu v'kq¼;% vHkou~A rklka la'kks/ua ÑRok okD;kfu
iqu% fy[kr & 1×4 4

nks fe=kksa osQ okrkZyki esa oqQN v'kqf¼;k¡ gks xbZ gSaA mUgsa la'kksf/r djosQ okD; iqu% fyf[k,

Correct the following sentences and re-write them in the answer sheet.

v#.k% á% fo|ky;s ,dkn'k&}kn'k d{k;ks% eè;s fozQosQVizfr;ksfxrk Hkfo";frA fda Roe~ n`"Vk

o#.k% vke~] vke~ vge~ vfi rka izfr;ksfxrke~ vi';r~A

v#.k% r=k {ks=kj{k.ks vusosQ U;wurk% vklu~A

o#.k% v#.k! ,dkn'k d{kk;k% ozQhMdk% nÙkko/ku% u vklu~A

iz-la- iz'u vad
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[k.M % ?k (Section D) 35 vÄïk%

ifBr vocks/ue~ (ifBr vocks/u)

Reading Comprehension

14- v/ksfyf[kra x|ka'ka] i|ka'ka] ukV~;ka'ka p ifBRok iznÙkiz'ukuke~ mÙkjkf.k mÙkjiqfLrdk;ka
fy[kr

fuEufyf[kr x|ka'k] i|ka'k rFkk ukV~;ka'k dks i<+dj fn;s x;s iz'uksa osQ mÙkj mÙkjiqfLrdk esa
fyf[k,

Read the following prose, poetry and drama passages and answer the given ques-
tions in the answer sheet.

(v) rL; opue~ vJ¼s;a eRok enks¼rk% di;% izgL; vonu~ & ^Hkks! fdfene~ mP;rs\ u o;a
LoxZlekuksiHkksxku~ fogk; vVO;ka {kkj&frDr&d"kk;&dVq&:{kiQykfu Hk{kf;";ke%A* ,rPNªqRok
lkJqu;uks ;wFkifr% lxn~xne~ mDroku~&^jlukLoknyqC/k% ;w;e~ vL; lq[kL; oqQifj.kkea u tkuhFkA
vga rq oua xPNkfeA*

vFk vU;fLeu~ vgfu l es"kks ;kor~ egkula izfo'kfr rkor~ lwidkjs.k v/ZTofyrdk"Bsu rkfMr%A
mQ.kkZizpqj% es"k% ofÉuk tkToY;eku'kjhj% fudVLFkke~ v'o'kkyka izfo'kfr nkgosnu;k p HkwekS
yqBfrA rL; f{krkS izyqBr% r`.ks"kq ofÉTokyk% leqfRFkrk%A

iz'uk%

I ,dinsu mÙkjrA ½×2 1
,d 'kCn esa mÙkj nhft,
Answer in one word.

I. lwidkjs.k es"k% osQu rkfMr%\

II. okujk% dhn`'kku~ miHkksxku~ ifjR;T; oua xUrqa u bPNfUr Le\

II iw.kZokD;su mÙkjrA 1×2 2
iw.kZ okD; esa mÙkj nhft,A
Answer in a complete sentence.

I. vVO;ka dhn`'kkfu iQykfu izkI;Urs\

II. r`.ks"kq ofÉTokyk% dFka leqfRFkrk%\

III ;FkkfunsZ'ke~ mÙkjrA ½×4 2
;FkkfunsZ'k mÙkj nsaA
Answer as directed.

iz-la- iz'u vad
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(i) ofÉuk tkToY;eku% 'kjhj% bR;=k fo'ks"k.kina fde~\

(ii) ^HkwekS* bfr inL; fda i;kZ;ina x|ka'ks iz;qDre~\

(iii) ^izfo'kfr* bfr fozQ;kinL; drZ̀ina x|ka'kkr~ fpRok fy[krA

(iv) ^#nua d`Rok* bR;L; inL; foijhrkFkZde~ vuqPNsnkr~ fpRok fy[krA

(vk) i|ka'k%

okDiVq/SZ;Zoku~ eU=kh lHkk;keI;dkrj%A

l osQukfi izdkjs.k ijSuZ ifjHkw;rsAA

iz'uk%

I ,dinsu mÙkjrA ½x2 1
,d in esa mÙkj nhft,A
Answer in one word.

(i) eU=kh lHkk;ka dhn`'k% L;kr~\

(ii) /S;Zoku~ eU=kh oSQ% u ifjHkw;rs\

II iw.kZokD;su mÙkjrA 2×1 2
iw.kZokD; esa mÙkj nhft,A
Answer in a complete sentence.

dhn`'k% eU=kh ijS% u ifjHkw;rs\

III ;FkkfunsZ'ke~ mÙkjrA ½×4 2
;FkkfunsZ'k mÙkj nsaA
Answer as directed.

(i) ^frjLÑr% Hkofr* bR;FksZ 'yksosQ fda ina iz;qDre~\

(ii) Lodh;S% bfr inL; foijhrkFkZoaQ fde~\

(iii) ^/S;Zoku~ eU=kh* vu;ks% in;ks% fo'ks";ina fde~\

(iv) ijS% u ifjHkw;rsa okD;s fØ;kin fde~\

(b) ukV~;ka'k%

i;ZVukf/dkjh fgekfnzrqÄ~x Ük`ÄxS% lq'kksfHkrk lw;ksZn; Hkwfe% b;e~A vr% v#.kkpy%A vfLeu~

iz-la- iz'u vad
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izns'ks i×pk'knf/dk% u|% izogfUrA foiqyk p v=k oulEinkA oukS"k/huka rq
v;a Ïksr% ,oA iq"ik.kka le`f¼% lqxfU/% p euksgj%A loZ=k gjhfrekA
'kq¼i;kZoj.ksu ;qDrL; vL; izns'kL; osQoya izzÑfr% ,o u fofo/k euksgjk p
izR;qr laLd`fr% vfiA

losZ ,oe~--------------

lq/kdj% vL; izns'kL; jkt/kuh dk\

i;ZVukf/dkjh bZVkuxje~ vL; izns'kL; jkt/kuhA

';kek egksn;A v=kR;tutkrhuka dkfu izeq[kkfu vkthfodk & lk/ukfu\

i;ZVukf/dkjh d`f"k% f'kYidyk oulEin~ pSo ,rs"kka izeq[kkfu vkthfodklk/ukfuA

jfo% ekU;oj! vL; izns'kL; izeq[kk% mRlok% osQ\

i;ZVukf/dkjh lk/q ì"Ve~A v=k vusosQ izeq[kksRlok%A ̂ okÄ~pks* tutkrhuka izeq[ka ioZ ̂ vksfj;k*
bfr vfLrA ,rr~ rq ̂ iQjojh* bfr ekls ekU;rsA vfLeu~ voljs d`f"kHkwfeiwtua
lsrqfuekZ.ka p lkekftoaQ dk;± fozQ;rsA

iz'uk%

I ,dinsu mÙkjrA ½x2 1
,d gh 'kCn esa mÙkj fy[ksa
Answer in one word only.

(i) ^vksfj;k* bfr ioZ dnk ekU;rs\

(ii) d`f"k% f'kYidyk oulEin~ pSo osQ"kka izeq[kkfu vkthfodklk/ukfu\

II iw.kZokD;su mÙkjrA 1×2 2
iw.kZ okD; esa mÙkj fy[ksa
Answer the following in complete sentence.

(i) ^okÄ~pks* tutkrhuka izeq[kioZf.k fda fda Hkofr\

(ii) 'kq¼i;kZoj.ksu ;qDrL; v#.kkpyL; fda fda euksgje~\

III funsZ'kkuqlkje~ mÙkjrA ½×4 2
funsZ'k osQ vuqlkj mÙkj fy[ksa
Do as directed.

(i) ^lw;ksZn;Hkwfe% b;e~* v=k ^b;e~* bfr ina dLeS iz;qDre~\

(ii) ^vlkekftde~* bfr inL; foijhrkFkZoaQ ina laoknkr~ fpRok fy[krA

iz-la- iz'u vad
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(iii) ^foiqyk oulEink* vu;ks% in;ks% fo'ks";ina fde~\

(iv) ^izogfUr* bfr fozQ;kinL; drZ̀ina laoknkr~ fpRok fy[krA

15- v/ksfyf[kri|};L; HkkokFkZe~ mi;qDrinS% iwjf;Rok iqu% fy[kr 3+3 6

fuEufyf[kr nks i|ksa osQ HkkokFkks± dks mi;qDr 'kCnksa ls Hkjdj iqu% fyf[k,

Complete the explanations of the following two stanzas and re-write them in the
answer sheet:

I dL; o'ks izkf.kx.k%\ lR;fiz;Hkkf"k.kks fouhrL;A

Do LFkkrO;e~\ U;kÕ;s ifFk n`"Vkn`"VykHkk<~;sAA

HkkokFkZ%

;% lR;fiz;Hkk"kh (i)....................pkfLr losZ izkf.ku% rL; ,o o'khHkw; dk;± oqQoZfUrA vr% loSZ%
lg fouezr;k O;ogkj% dÙkZO;%A rFkSo gkfu&ykHkkS vfopk;Z ,o (ii)....................ekxsZ ,o
pfyrO;e~ dkea rL; (iii)....................izR;{kr;k n`';eku% Hkosr~ u okA

II ukfLr fo|klea p{kq% ukfLr lR;lea ri%A

ukfLr jkxlea nq[ka ukfLr R;kxlea lq[ke~AA

HkkokFkZ%

vfLeu~ lalkjs fo|k ,o ujL; us=ke~ bo dF;rsA lR;L; ikyua dfBuree~A vr% vusu lee~
(i).................... u vfLrA lkalkfjdinkFksZ"kq vklfDr% ,o (ii).................... dkj.ke~ ija R;kxL;
Hkkou;k lea (iii).................... lalkjs u vfLrA

16- v/ksfyf[kri|};L; vUo;kS iwjf;Rok iqu% fy[kr 1½+1½ 3

fuEufyf[kr nks i|ksa osQ vUo;ksa dks iwjk djosQ iqu% fyf[k,

Complete and re-write the prose order renderings of the following two stanzas:

I. izkfFkZra rs e;k pozaQ nsonkuoiwftre~A
vts;% L;kfefr foHkks! lR;esrn~ czohfe rsAA

vUo;%

foHkks! vts;% (i).................... bfr e;k nsonkuo&iwftre~ (ii).................... rs izkfFkZre~A
(iii).................... rs lR;e~ czohfeA

II. vFk osQu iz;qDrks¿;a ikia pjfr iw#"k%

vfuPNUufi ok".ksZ;A cykfno fu;ksftr%AA

iz-la- iz'u vad
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vUo;%

ok".ksZ;! vFk osQu (i).................... v;a iw#"k% (ii).................... vfi (iii).................... fu;ksftr%
bo ikie~ pjfrA

17- js[kkfÄïrinkfu vkfJR; iz'ufuekZ.ka oqQ#r 1×4 4

js[kkfÄïr inksa osQ vk/kj ij iz'ufuekZ.k dhft,

Frame questions based on the underlined words

(i) 'kozQ% oje~ vnnkr~A

(ii) cd% o`"Vs% vfHkuUnua djksfrA

(iii)Hkkjrh;eklkuka ukekfu u{k=kukefHk% lEc¼kfuA

(iv) nzkSf.kuk es iq=kk% grk%A

18- ?kVukozQekuqlkje~ v/ksfyf[krokD;kfu iqu% ozQes.k fy[kr ½×8 4
?kVukozQe osQ vuqlkj fuEufyf[kr okD;ksa dks iqu% ozQe ls fyf[k,
Re-write the following sentences in the sequential order.

(i) izPNUuHkkX;L; /ukxeo`ÙkkUra JqRok nq"Vcqf¼% rL; ,o x`gs pkS;kZFk± lfU/[kuue~ vdjksr~A

(ii) x`gekxr% Hkk;Z;k mifn"V% l% ozQUnua fogk; dL;fpr~ d`"kdL; {ks=ks d`f"kdk;± izkjH;
xPNrk dkysu /fud% l×tkr%A

(iii) fo|kijkÄ~eq[k% izPNUuHkkX;% nq"Vcqf¼uk lg pkS;ZdeZf.k layXu% tkr%A

(iv) ifrrkr~ dy'kkr~ izpqjef.kekf.kD;kfu izPNUuHkkX;L; x`gs ifrrkfu lfU/r% liZ'p fuxZR;
nq"Vcqf¼a n"Voku~A

(v) ckyoplk mUehfyrp{kq% izPNUuHkkX;% x`ga izR;kxroku~ nq"Vcqf¼'p ,dkdh ,o pkS;kZFk±
izfLFkr%A

(vi) LoIuL; okrk± JqRok nq"Vcqf¼% >fVfr xRok v'oRFkewykr~ lqo.kZdy'ka izkIroku~A

(vii) ,dnk urksUurekxkZr~ pkS;kZFk± xPNUrkS rkS ,osQu ckyosQu xfgZrkSA

(viii) lqo.kZdy'ks li± ǹ"V~ok fe=ka ekjf;rqe~ bPNu~ nq"Vcqf¼% dy'ka izPNUuHkkX;L; x̀gs f{kIroku~A

19- izlÄ~xkuqlkja js[kkfÄ~drinkuka 'kq¼e~ vFkZe~ fpRok fy[kr 1×3 3
izlax osQ vuqlkj js[kkafdr inksa osQ 'kq¼ vFkZ pqudj fyf[k,
Write the meanings of the underlined words suitable to the context.

I vgks lÙofgrSf"krk

iz-la- iz'u vad
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iz-la- iz'u vad

(i) cye~ (ii) izkf.kuke~ (iii) lR;e~

II dFka eke~ vf/f{kiflA

(i) vf/dkjs.k f{kifl (ii) vf/d`R; f{kifl (iii) frjLdjksf"k

III ladYia JqRok fofLerk% ;w;e~A

(i) vk'p;Zpfdrk% (ii) fo'ks"ks.k fLerekuk% (iii) foLekfjrk%


